MPM2D1 Date:
Day 7: Factoring Complex (Tricky) Trinomials Chapter 5: Quadratic Expressions

Task 1: The Hardest Part . . .
In each diagram below, write the two numbers on the sides of the “X”
that are multiplied together to get the top number of the “X,” but added
together to get the bottom number of the “X.”
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Day 7: Factoring Complex (Tricky) Trinomials

Date:

Chapter 5: Quadratic Expressions

Task 2: Factor Each Simple Trinomial

1. x2+3x-10

M a N
(x=D(x+5) -10 ~’5 R“a 5

3. X*—Xx-6

4
11X -3) X3
5(.Xx2+5x—6 2‘<
(v —Dx+4)

7. X2+ 3x—40
(v—5)x+ 8)

9. x*—15x +54

x-6)(x-3)
11.x*=5x+6

(x-2)(x-3)
13.x*—=7x+6

()f - ])(x— é)
15. x*—5x— 14

42D (x—7F)
17.x2—10x+9

x - Dx-9)
19.x2+x—12

Q( =3)(x+ )

2. X2+5x+6

(xt2)x +3)
4, x2-2x-63

(X+P(x-9)
6. X2+7x+6

(x+XNx+4)

8. xX*—x—56

¢t P)(x - &)

10. x2—14x + 24

(x-2)x~1)

12. x2—6x—16
(x+V) (x-§)

14.x2—=x—2
X+ D0x-2)
16. x> —12x + 20
(x=2)(x ~ 10)
18.X2+x—6

(x-2)(x t3)

20. X2 —5x—6

(x t 10~ 6

Answers
(not in order)
x+1)(x—6)

x+4)(x—3)
(x—3)(x+2)
x—1x—-6)
x—1)(x+6)
xX—=7)(x+2)
(x+2)(x +3)
x—8)(x+7)
X—9)(x+7)
(x—=5)(x+8)
(x+3)(x—2)
x—10)x—2)
(x—2)(x+5)
x—=3)(x—2)
x+1x+6)
(x—8)(x+2)
x—9)(x—6)
x—12)x—2)
x—1)x—9)
x+1)(x—2)
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Day 7: Factoring Complex (Tricky) Trinomials

Date:

Chapter 5: Quadratic Expressions

Task 3: Factor Each Tricky Trinomial

-10/q/-|. 10
@2x2+9x—5 //’
Xt —X+10x-%

x(-1N+6 (ax) D (c45)x~1)

23.9x°+3x-2 -\B/3 /3 6
= A= Ic4bx-2 /3/%

22 4¢ - 17x +15_ 60/-13/5 11

= Uxt= Gy -1 41$

= x(qx=5)-34x5) 5 (hy-5)(x-3)
24.10x2— 11x —6 —bo/-l1/ 4 1Y

= o = 9% +Ux ~b

= Bx(Bx=1)+ 23x=1) D (3x=1)(3x42) - Gx(2x-) +2(2%-3) D (2x¢-3N5x +2)
25.3x2+2x —21 -63/2 /7 26.3x2+8x+5 15 /8/+3 15

= 23 _Fx4+9% -7\ /- T By x4+ S / / /

- x(3%-3) +23(2y-7) S {sc-l-i)(?,xq.) Il w41) 45 e+1) D (x+IX3x%+5)

27. 22 +9X+7 ty/a/z, ¥ 28.9—9x —4 -3k/-9/ 3717

I S = 12x 43w =Y

= (x4 4 Flv41) D (x-l-l)(’,bz-l-?) ¢ (3x-) 4 (3-t) = (Bx) (3x+1)
29.2x* =5x+3 &/-5/-2 30.5x2+8x+3 |5 5
2 -2x=x 3 s =Dt 3x+Tx+3 78/ 3%

Qx(x= 1) =3(x-1) =>(x-l)(ax—3)
31._L4x3+ 8xé:r 3 3:7_/5’/ 26
= 4xF+2x +oxt
- gy (2x+1) 4324 1) o (4)(2x+))
33.6x2—11x +5 30/-11/—(,,4;'
= by'— by -Sx+5_
« byl x-1)=F(x1) = (x)(6x-5)
35.3x2+ 16x+5 IT/“:/I. 5
.3x"+x+l=3x?€'
= % (Bx+1) 45 (3x+1) D (x45)(3¢+1)
37.42+5x+1 4y/5/1 0
= X tlx+ | /57N
= % (lx0) £ (L ) S (x+) (b 1)

= x (5% 43)+ (x43)D K+D(5%+73)
32.5x2+38x +21 los /3% / 3,37
Sx* 4+ X437 %1\

X (5%43) 4 F(5%43)> (x+’r)('7’¥+3)
34.4¢2—X —14 ~5¢/-1 |7 -8
= U rx-8 -1y '
- x(ux+1)=-24x+?) = (Ux+#)(x-2)
36.5x2—3x — 14 —ao/—s/ % -lo
= Hxl-loxtv-ly
Ix(%2) 4 0e-0) D (x-2)(5v47)
38.2x2+ 15x+ 7 \y/15/ |, |

S o?x"-w-(-lun??/ N

= ¥ (ax+ )+ Hxt1)  (2xh)(x+3)

_gg_lsxt{.l[e%(;gg \5/\e/1) 15 4;),7'_17_51(;_ 23):; ++5q_ #7/-28)-3, U5
-~ JIX+ W2 Dy <26
= (oyel) ¢B(ax4) D E4)xt3) < Bx(5xD) =7 (%)

= (5x=1)(3%~5)
Task 4: Factor Fully (Remove Common Factors First)

42. 26 — 14x — 36x A (X% x-18)

41. 4x2 — 4x— 24 (X =x—6)
Qx (x+ 2 —-9)

ANSWErs
(not in order)
(x+7)(5x + 3)

(2x-3)(5x + 2)
(3x+5)(x+1)
(x - 3)(4x - 5)
B5x+1)(x +3)
(3x+2)(3x-1)
(2x—1)(x +5)
Bx+1)(x+5)
(4x+1)(x+1)
(5x + 7)(x - 2)
(3x-5)(5x - 1)
(3x+1)(3x-4)
(2x+7)(x+1)
(4x+7)(x-2)
(2x—3)(x—1)
(6x-5)(x - 1)
(5x+3)(x +1)
(3x-7)(x +3)
2x+D)(x+7)
(2x+ 1)(2x + 3)

Answers
(not in order)

—4(2x — 1)(x + 3\,
23x = B)(x + 2 )\

)21, 43.12x + 42x° + 18x° 6x8 2x1+ X43) 44 —x2-2x+3 S(x + 1)(x + 3)NV
/ / U Gy B (A x bx +1) ( j ) = (x*+2v=}) . R e Dl )\’
6x% (3 (e 4) +3(xc41)[D0x OcD (2) o= (x =1Xxt3) “e(Te —(x+3)(x 1)

45, x* + X3 — 6x2

(4 x~6)=x k=2 )x+3) <

47 e+ x+6 o= (X=¥-b)
- AD&- 3 )

49. x* + 6x2 + 5x
< x(x™6y49)
= ¥ (Y l\()(‘\s-)

46. -8 — 20x + 12 ~4(IX 45 ~3)

=4 (A =¥ +bx-3 _ )
== (X‘Z‘Zx-l)'l"&(?,y-{))f q(ﬁ‘j) (2 ])

48. X% + 4x* + 3x%°

= X3¢ Gy 13)

= ¥3 (A (x +3)

50. 6x2 + 2x — 20
- Q\CSX‘L‘TX ,..\O) -@/\/’g)»ﬁ
- & (SXL—EX+6 }(-IO)

=4[ ¥0%5)4 3 3x-5)[3 A(x+2)(3%-5)

4(x +2)(x — 3)\™
~(x+2)(x-3) ™
X(x +5)(x + 1)\’
6x3(2x + 1)(x + 3)\’
X(x+3)(x—2) " »
2x(x + 2)(x — 9)\,

3
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